

Applications of an identity of Andrews

D.D. Somashekara, K. Narasimha Murthy *

Department of Studies in Mathematics, University of Mysore, Manasagangotri, Mysore 570006, India

Received 28 March 2013; revised 8 July 2013; accepted 23 August 2013 Available online 4 September 2013

Abstract. In this paper, we give a bilateral form of an identity of Andrews, which is a generalization of the $_1\psi_1$ summation formula of Ramanujan. Using Andrews' identity, we deduce some new identities involving mock theta functions of second order and finally, we deduce some q-gamma, q-beta and eta function identities.

Keywords: q-Series; Mock theta functions; q-Gamma; q-Beta; Eta-functions

2010 Mathematics Subject Classification: Primary 33D15; 33D05; 11F20

1. Introduction and statement of results

In 1981, Andrews [2] has established the following identity

$$a^{-1} \sum_{n=0}^{\infty} \frac{(-q/a, AB/ab)_n}{(-B/a, -A/a)_{n+1}} (-b)^n - b^{-1} \sum_{n=0}^{\infty} \frac{(A, -aq/B)_n}{(-a, -A/b)_{n+1}} (-B/b)^n$$

$$= (a^{-1} - b^{-1}) \frac{(A, B, bq/a, aq/b, q, AB/ab)_{\infty}}{(-b, -a, -A/b, -A/a, -B/b, -B/a)_{\infty}}, \quad |b|, |B/b| < 1, \tag{1.1}$$

where as usual

Peer review under responsibility of King Saud University.



Production and hosting by Elsevier

^{*} Corresponding author. Tel.: +91 0821 2419427, mobile: +91 9449248068. E-mail addresses: dsomashekara@yahoo.com (D.D. Somashekara), simhamurth@yahoo.com (K. Narasimha Murthy).

$$(a)_{\infty} := (a;q)_{\infty} := \prod_{n=0}^{\infty} (1 - aq^n),$$

$$(a)_n := (a;q)_n := \frac{(a)_{\infty}}{(aq^n)_{\infty}}, \quad n \text{ is an integer},$$

$$(a_1, a_2, a_3, \dots, a_m)_n = (a_1)_n (a_2)_n (a_3)_n \cdots (a_m)_n,$$

$$(a_1, a_2, a_3, \dots, a_n)_{\infty} = (a_1)_{\infty} (a_2)_{\infty} (a_3)_{\infty} \cdots (a_n)_{\infty}.$$

This identity was proved using several summation and transformation formulae involving basic hypergeometric series. Putting A=0, a=-q/a, B=b/a and b=-z in (1.1), we obtain the well-known $_1\psi_1$ summation formula of Ramanujan [9].

$$\sum_{n=-\infty}^{\infty} \frac{(a)_n}{(b)_n} z^n = \frac{(az)_{\infty} (q)_{\infty} (q/az)_{\infty} (b/a)_{\infty}}{(z)_{\infty} (b)_{\infty} (b/az)_{\infty} (q/a)_{\infty}},\tag{1.2}$$

As indicated by Andrews [2] in his paper, Agarwal [1] and Kang [6] have proved (1.1) using the three term transformation formula of $_3\phi_2$ -series [3, Equation (III.33), p. 364]. Recently, Liu [7] obtained the following equivalent form of (1.1) using (1.2) along with Roger-Fine identity by employing q-exponential operators.

Theorem 1.3. If |a|, |b| < 1, then

$$a^{-1} \sum_{k=0}^{\infty} \frac{(-q/a, cd/ab)_k}{(-c/a, -d/a)_{k+1}} (-b)^k - b^{-1} \sum_{k=0}^{\infty} \frac{(-q/b, cd/ab)_k}{(-c/b, -d/b)_{k+1}} (-a)^k$$

$$= (a^{-1} - b^{-1}) \frac{(q, aq/b, bq/a, c, d, cd/ab)_{\infty}}{(-a, -b, -c/a, -c/b, -d/a, -d/b)_{\infty}}.$$
(1.3)

One can recover (1.1) from (1.3) by using Sears transformation for $_3\phi_2$ -series [3, Equation (III.9), p. 359].

The main objective of this paper is to give a bilateral form of (1.3). As applications of (1.3) we derive some new identities involving mock theta functions of second order and also some q-gamma, q-beta and eta-function identities.

The q-gamma function $\Gamma_q(x)$, was introduced by Thomae [11] and later by Jackson [5] as

$$\Gamma_q(x) = \frac{(q)_{\infty}}{(q^x)_{\infty}} (1 - q)^{1 - x}, \quad 0 < q < 1.$$
 (1.4)

q-Beta function is defined by

$$B_q(x,y) = (1-q) \sum_{n=0}^{\infty} \frac{(q^{n+1})_{\infty}}{(q^{n+y})_{\infty}} q^{nx}.$$

A relation between q-Beta function and q-gamma function is given by

$$B_q(x,y) = \frac{\Gamma_q(x)\Gamma_q(y)}{\Gamma_q(x+y)}. (1.5)$$

The Dedekind eta function is defined by

$$\eta(\tau) := e^{\pi i \tau / 12} \prod_{n=1}^{\infty} (1 - e^{2\pi i n \tau}), \quad Im(\tau) > 0$$

$$:= q^{1/24} (q; q)_{\infty}, \quad \text{where } e^{2\pi i \tau} = q. \tag{1.6}$$

In his last letter to Hardy [10], Ramanujan defined 17 new functions and called them 'mock' theta functions. For the definitions, classification and survey of recent developments in the theory of mock theta functions, one may refer to the paper by Gordan and McIntosh [4].

McIntosh [8] has defined the following mock theta functions and called them second order

$$A(q) = \sum_{n \geqslant 0} \frac{q^{(n+1)^2} (-q; q^2)_n}{(q; q^2)_{n+1}^2},$$
(1.7)

$$B(q) = \sum_{n \ge 0} \frac{q^{n(n+1)}(-q^2; q^2)_n}{(q; q^2)_{n+1}^2},$$
(1.8)

and

$$\mu(q) = \sum_{n \ge 0} \frac{(-1)^n q^{n^2} (q; q^2)_n}{(-q^2; q^2)_n^2}.$$
(1.9)

Ramanujan defines the general theta function f(a,b) as

$$f(a,b) := \sum_{n=-\infty}^{\infty} a^{n(n+1)/2} b^{n(n-1)/2} = (-a, -b, ab; ab)_{\infty}, \quad |ab| < 1.$$

Its special cases are

$$\phi(q) := f(q,q) = 1 + 2\sum_{n=1}^{\infty} q^{n^2} = \frac{(-q; -q)_{\infty}}{(q; -q)_{\infty}},$$
(1.10)

$$f(-q) := f(-q, -q^2) = \sum_{n=-\infty}^{\infty} (-1)^n q^{n(3n-1)/2} = (q; q)_{\infty}, \tag{1.11}$$

and

$$\chi(q) := (-q; q^2)_{\infty}. \tag{1.12}$$

q-shifted factorial identity is

$$(a)_{-n} = \frac{1}{(aq^{-n})_n} = \frac{(-q/a)^n}{(q/a)_n} q^{\binom{1}{2}}.$$

The sum of a very-well-poised $_6\psi_6$ series [3, Equation (II.33), p. 357] is given by

Watson's transformation for a non-terminating very-well-poised $_8\phi_7$ series [3, Equation (III.17), p. 360] is given by

$$\sum_{n=0}^{\infty} \frac{(A, qA^{1/2}, -qA^{1/2}, B, C, D, E, F)_n}{(q, A^{1/2}, -A^{1/2}, Aq/B, Aq/C, Aq/D, Aq/E, Aq/F)_n} \left(\frac{A^2q^2}{BCDEF}\right)^n$$

$$= \frac{(Aq, Aq/DE, Aq/DF, Aq/EF)_{\infty}}{(Aq/D, Aq/E, Aq/F, Aq/DEF)_{\infty}} \sum_{n=0}^{\infty} \frac{(D, E, F, Aq/BC)_n}{(q, Aq/B, Aq/C, DEF/A)_n} q^n.$$
 (1.14)

2. BILATERAL FORM OF IDENTITY (1.3)

In this Section, we give the bilateral form of (1.3) using Watson's transformation formula (1.14) for well-poised $_8\phi_7$ -series.

Setting A = aq/b, B = -aq/c, C = -aq/d, D = -q/b, E = q and $F = q^{-n}$ in (1.14), letting $n \to \infty$ and then multiplying the resulting identity throughout by $[(1 + c/b)(1 + d/b)]^{-1}$, we obtain

$$\sum_{k=0}^{\infty} \frac{(-q/b, cd/ab)_k}{(-c/b, -d/b)_{k+1}} (-a)^k$$

$$= \sum_{k=0}^{\infty} \frac{(-q/b, -aq/c, -aq/d)_k}{(-a, -c/b, -d/b)_{k+1}} \left(1 - \frac{aq^{2k+1}}{b}\right) (-1)^k q^{\binom{k}{2}} (cd/b)^k. \tag{2.1}$$

Interchange a and b in (2.1) to obtain

$$\sum_{k=0}^{\infty} \frac{(-q/a, cd/ab)_k}{(-c/a, -d/a)_{k+1}} (-b)^k$$

$$= \sum_{k=0}^{\infty} \frac{(-q/a, -bq/c, -bq/d)_k}{(-b, -c/a, -d/a)_{k+1}} \left(1 - \frac{bq^{2k+1}}{a}\right) (-1)^k q^{\binom{k}{2}} (cd/a)^k. \tag{2.2}$$

From (2.1), (3.2) and (1.3), we have

$$a^{-1} \sum_{k=0}^{\infty} \frac{(-q/a, -bq/c, -bq/d)_k}{(-b, -c/a, -d/a)_{k+1}} \left(1 - \frac{bq^{2k+1}}{a}\right) (-1)^k q^{\binom{k}{2}} (cd/a)^k$$

$$-b^{-1} \sum_{k=0}^{\infty} \frac{(-q/b, -aq/c, -aq/d)_k}{(-a, -c/b, -d/b)_{k+1}} \left(1 - \frac{aq^{2k+1}}{b}\right) (-1)^k q^{\binom{k}{2}} (cd/b)^k$$

$$= (a^{-1} - b^{-1}) \frac{(q, aq/b, bq/a, c, d, cd/ab)_{\infty}}{(-a, -b, -c/a, -c/b, -d/a, -d/b)_{\infty}},$$
(2.3)

which on some manipulations can be written as

$$\sum_{k=-\infty}^{\infty} \frac{(-q/a, -bq/c, -bq/d)_k}{(-b, -c/a, -d/a)_{k+1}} \left(1 - \frac{bq^{2k+1}}{a}\right) (-1)^k q^{\binom{k}{2}} (cd/a)^k$$

$$= \frac{(q, a/b, bq/a, c, d, cd/ab)_{\infty}}{(-a, -b, -c/a, -c/b, -d/a, -d/b)_{\infty}}, |cd| < |a| < 1 \text{ and } |cd| < |b| < 1,$$
(2.4)

which is the required bilateral form of (1.3).

Remark 1. Letting $E \to \infty$ in (1.13) and then replacing A by bq/a, B by -q/a, C by -bq/c and D by -bq/d, we obtain (3.4).

3. Some identities involve mock theta functions of second order

In this Section, we obtain some new identities involving mock theta functions of second order.

Theorem 3.1. If A(q), B(q) and $\mu(q)$ are mock theta functions of second order as defined in 1.7,1.8 and 1.9 and $\phi(q)$, f(q) and $\chi(-q)$ are Ramanujan's theta functions as defined in 1.10,1.11 and 1.12, then

$$4A(q) + q^{-1}\mu(-q) = \chi^{5}(q)f(-q^{2}), \tag{3.2}$$

$$B(q) + B(-q) = 2\frac{f^{5}(-q^{4})}{f^{4}(-q^{2})},$$
(3.3)

$$\mu(q) - A(-q) = \frac{\varphi(-q)f(-q)}{4f^2(-q^2)}. (3.4)$$

Proof. Setting a = -q/A, b = -Z, c = B/A and d = C/A in (1.3) and then replacing the upper case letters to lower case, we obtain \Box

$$\sum_{k=0}^{\infty} \frac{(a, bc/azq)_k}{(b/q, c/q)_{k+1}} z^k - (q/az) \sum_{k=0}^{\infty} \frac{(q/z, bc/azq)_k}{(b/az, c/az)_{k+1}} (q/a)^k \\
= \frac{(q, az, q/az, b/a, c/a, bc/azq)_{\infty}}{(z, b/q, c/q, b/az, c/az, q/a)_{\infty}}.$$
(3.5)

Change q to q^2 and then replace b by bq, c by cq and z by -zq/a in (3.5) and then let $a \to \infty$ in the resulting identity to obtain

$$\sum_{k=0}^{\infty} \frac{q^{k^2} (-bc/zq; q^2)_k}{(b/q, c/q; q^2)_{k+1}} z^k + (q/z) \sum_{k=0}^{\infty} \frac{q^{k^2+2k} (-bc/zq; q^2)_k}{(b/z, c/z; q^2)_{k+1}} z^{-k}
= \frac{(q^2, -qz, -q/z, -bc/zq; q^2)_{\infty}}{(b/q, c/q, b/z, c/z; q^2)_{\infty}}.$$
(3.6)

Putting $b = c = z = q^2$ in (3.6), we obtain

$$4A(q) + q^{-1} \sum_{k \geqslant 0} \frac{q^{k^2} (-q; q^2)_k}{(-q^2; q^2)_{k+1}} = \frac{(-q; q^2)_{\infty}^3 (q^2; q^2)_{\infty}}{(-q^2; q^2)_{\infty}^2 (q; q^2)_{\infty}^2}.$$
(3.7)

Using Euler's identity

$$(-q;q^2)_{\infty} = rac{1}{(q;q^2)_{\infty}(-q^2;q^2)_{\infty}},$$

(1.11) and (1.12) in (3.7), we obtain (3.2) after some simplifications. Similarly, setting $b=c=q^2$ and z=q in (3.6) using (1.11), we obtain (3.3) after some simplifications. Finally, set b=c=-q and z=-1 in (3.6) using (1.10) and (1.11), we obtain (3.4) after some simplifications.

4. Some q-gamma, q-beta and eta function identities

In this Section, we deduce some interesting q-gamma, q-beta and eta function identities using (3.4), which can be written after changing the signs of 'a' and 'b' as

$$\sum_{k=0}^{\infty} \frac{(q/a, bq/c, bq/d)_k}{(b, c/a, d/a)_{k+1}} \left(1 - \frac{bq^{2k+1}}{a}\right) q^{\binom{k}{2}} (cd/a)^k$$

$$-\frac{a}{b} \sum_{k=0}^{\infty} \frac{(q/b, aq/c, aq/d)_k}{(a, c/b, d/b)_{k+1}} \left(1 - \frac{aq^{2k+1}}{b}\right) q^{\binom{k}{2}} (cd/b)^k$$

$$= \frac{(q, a/b, bq/a, c, d, cd/ab)_{\infty}}{(a, b, c/a, c/b, d/a, d/b)_{\infty}}.$$
(4.1)

Setting $a = q^x$, $b = q^y$, $c = q^{2x}$ and $d = q^{2y}$ in (4.1), we obtain

$$\begin{split} &\sum_{k=0}^{\infty} \frac{(q^{1-x}, q^{1-y}, q^{1+y-2x})_k}{(q^x, q^y, q^{2y-x})_{k+1}} (1 - q^{2k+1+y-x}) q^{\binom{k}{2}} q^{k(x+2y)} \\ &- q^{y-x} \sum_{k=0}^{\infty} \frac{(q^{1-x}, q^{1-y}, q^{1+x-2y})_k}{(q^x, q^y, q^{2x-y})_{k+1}} (1 - q^{2k+1+x-y}) q^{\binom{k}{2}} q^{k(2x+y)} \\ &= \frac{(q^{2x}, q^{2y}, q^{x+y}, q^{x-y}, q^{1+y-x}, q)_{\infty}}{(q^x, q^{2x-y}, q^{2y-x}, q^y, q^y, q^x)_{\infty}}. \end{split}$$

Using (1.4) and (1.5), we obtain after some simplifications,

$$\begin{split} &\frac{B_q^2(x,y)}{B_q(2x,2y)} = \frac{(1-q)(q^{2x-y},q^{2y-x},q^{x+y})_{\infty}}{(q^{x-y},q^{1+y-x},q^{2x+2y})_{\infty}} \\ &\times \left[\sum_{k=0}^{\infty} \frac{(q^{1-x},q^{1-y},q^{1+y-2x})_k}{(q^x,q^y,q^{2y-x})_{k+1}} (1-q^{2k+1+y-x})q^{\binom{k}{2}} q^{k(x+2y)} \right. \\ &\left. - q^{x-y} \sum_{k=0}^{\infty} \frac{(q^{1-x},q^{1-y},q^{1+x-2y})_k}{(q^x,q^y,q^{2x-y})_{k+1}} (1-q^{2k+1+x-y})q^{\binom{k}{2}} q^{k(2x+y)} \right] \\ &0 < x,y < 1 \text{ and } 1/2y < x < 2y. \end{split}$$

Similarly, setting $a = q^x$, $b = q^y$ and $c = d = q^{x+y}$ in (4.1), using (1.5) we obtain after some simplifications,

$$B_{q}^{3}(x,y) = \frac{(q)_{\infty}^{2}(1-q)^{3}}{(q^{x-y},q^{1+y-x})_{\infty}} \left[\sum_{k=0}^{\infty} \frac{(q^{1-x})_{k}^{3}}{(q^{y})_{k+1}^{3}} (1-q^{2k+1+y-x}) q^{\binom{k}{2}} q^{k(x+2y)} \right.$$
$$\left. - q^{y-x} \sum_{k=0}^{\infty} \frac{(q^{1-y})_{k}^{3}}{(q^{x})_{k+1}^{3}} (1-q^{2k+1+x-y}) q^{\binom{k}{2}} q^{k(2x+y)} \right]$$

0 < x, y < 1 and 0 < x - y < 1.

Setting, $a = q^{2x}$, $b = q^x$ and $c = d = q^{4x}$ in (4.1), using (1.4), we obtain after some simplifications

$$\frac{\Gamma_q^3(2x)\Gamma_q^2(3x)}{\Gamma_q^2(4x)\Gamma_q(5x)} = \frac{(q)_{\infty}}{(q^{1-x})_{\infty}(1-q)^{x-2}} \left[\sum_{k=0}^{\infty} \frac{(q^{1-2x})_k (q^{1-3x})_k^2}{(q^x)_{k+1} (q^{2x})_{k+1}^2} (1-q^{2k+1-x}) q^{\binom{k}{2}} q^{6kx} \right] - q^x \sum_{k=0}^{\infty} \frac{(q^{1-x})_k (q^{1-2x})_k^2}{(q^{2x})_{k+1} (q^{3x})_{k+1}^2} (1-q^{2k+1+x}) q^{\binom{k}{2}} q^{7kx} \right] 0 < x < 1/3.$$

Finally, setting $a = q^{2x}$, $b = q^x$ and $c = d = q^{3x}$ in (4.1), using (1.4), we obtain after some simplifications,

$$\frac{\Gamma_q^2(x)\Gamma_q^3(2x)}{\Gamma_q^3(3x)} = \frac{(q)_{\infty}}{(q^{1-x})_{\infty}(1-q)^{2-x}} \left[\sum_{k=0}^{\infty} \frac{(q^{1-2x})_k^3}{(q^x)_{k+1}^3} (1-q^{2k+1-x})q^{\binom{k}{2}} q^{4kx} \right] - q^x \sum_{k=0}^{\infty} \frac{(q^{1-x})_k^3}{(q^{2x})_{k+1}^3} (1-q^{2k+1+x})q^{\binom{k}{2}} q^{5kx} \right] 0 < x < 1/2.$$

Changing $q \to q^2$ and setting a = q, b = -q and $c = d = q^2$ in (4.1), using (1.4), we obtain after some simplifications,

$$\frac{\eta^{6}(4\tau)}{\eta^{3}(2\tau)} = \frac{1}{2} \left[\sum_{k=0}^{\infty} \frac{(-q;q^{2})_{k}(1+q^{4k+2})}{(q;q^{2})_{k+1}(1-q^{4k+2})} q^{k(k+1)} q^{2k} + \sum_{k=0}^{\infty} \frac{(-1)^{k}(q;q^{2})_{k}(1+q^{4k+2})}{(-q;q^{2})_{k+1}(1-q^{4k+2})} q^{k(k+1)} q^{2k} \right].$$

Similarly, changing $q \to q^2$ and setting a = q, b = -q, $c = q^2$ and $d = q^3$ in (4.1), using (1.6), we obtain after some simplifications,

$$\frac{\eta^2(4\tau)}{\eta(2\tau)} = \sum_{k=0}^{\infty} \frac{(-q^2;q^2)_{k-1}(1+q^{4k+2})}{(q^2;q^2)_{k+1}(1-q^{4k+2})} q^{k(k+1)} q^{3k}.$$

ACKNOWLEDGEMENT

The authors would like to thank the referee for useful comments, which considerably improved the quality of the paper. The first author is thankful to University Grants Commission(UGC), India, for the financial support under the grant SAP-DRS-1 No.F.510/2/DRS/2011. The second author is also thankful to UGC, India, for the award of Teacher Fellowship under the grant No. KAMY074-TF01-13112010.

REFERENCES

- [1] A.K. Agarwal, Certain three term relations between partial theta functions and summation formulae, Indian J. Pure Appl. Math. 14 (8) (1983) 944–954.
- [2] G.E. Andrews, Ramanujans lost notebook. I. partial θ -functions, Adv. Math. 41 (1981) 137–172.
- [3] G. Gasper, M. Rahman, Basic hypergeometric seriesEncyclopedia of Mathematics, Cambridge University press, Cambridge, 2004.
- [4] B. Gordon, R. McIntosh, A survey of classical mock theta functions, Dev. Math. 23 (2012) 95-144.
- [5] F.H. Jackson, On q-definite integrals, Quart. J. Pure Appl. Math. 41 (1910) 193-203.
- [6] S.-Y. Kang, Generalizations of Ramanujans reciprocity theorem and their applications, J. London Math. Soc. 75 (2007) 18–34.
- [7] Z.-G. Liu, Some operator identities and q-series transformation formulas, Discrete Math. 265 (2003) 119–139.
- [8] R.J. McIntosh, Second order mock theta functions, Can. Math. Bull. 50 (2) (2007) 284–290.
- [9] S. RamanujanNotebooks, vol. 2, Tata Institute of Fundamental Research, Bombay, 1957.
- [10] S. Ramanujan, The Lost Notebook and Other Unpublished Papers, Narosa, New Delhi, 1988.
- [11] J. Thomae, Beitrage zur Theorie der durch die Heinesche Reihe, J. Reine Angew. Math. 70 (1869) 258–281.